é !I = %ﬁ subtraktion av brak (samma niamnare)

namn: Datum: Poéng:
7 4 _ 13
6 6 6 6
42 N
5 5 8 8
NN 503
2 2 9 9
L3 7_6_
4 4 9 9
P > 3
5 5 9 9
2 1 4 1
7 7 9 9
5 4 1 3
- — - = 2_____:
77 2 2
3 2_ 5_3_
6 6 8 8
> 3_ 42
4 4 8 8
6 _3_ >_1_
5 5 77
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é !I E 3%) subtraktion av brak (samma nidmnare)

namn: Datum: Poéng:
7 41 32
6 6 2 6 6 3
4 2 2 7 3 1
5 5 5 8 8§ 2
31_21_1 5 3 2
2 T2 9 9 9
11_3_1 7 6 1
4 4 2 9 9 9
| 42 5 3 2
5 5 5 9 9 9
2_1_1 4_1_1
7 7 7 9 9 3
5 4 1 1 3
77777 237571
321 5_3_1
6 6 6 8 8 4
5.3_1 421
4 4 2 8§ 8 4
6 3_3 514
5 5 5 7 7 7

www.snowmath.com



https://www.snowmath.com

